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Part 1

Q1. Choose correct answer for (any 10) 10 x 1=10

1. Who is the present Defence Minister of India?

(A) NarendraModi (B) Rajnath Singh (C) Gajendra Singh (D)Arvind Kejariwa2. Which is the largest state in India in terms of area?
(A) Maharashtra (B) Uttar Pradesh (C) Rajasthan (D) Karnataka

3. Where is Gateway of India situated?

(A) Mumbai (B) Navi-Mumbai (C) Delhi
(D) Kanyakumari

4.What is the boiling point of water?

(A) 50°C (B) 100°C (C) 95°C (D) 90°c
5.wasthe 1h female Indian Astronaut.

(A) Sunita Williams (B) SirishaBandla(C) Kalpana Chawla (D) Yogita Shah
6.Who is the 'Missile Man of India'?

(A) Vikram Sarabhai (B) SatishDhawan (c) APJ Abdul Kalam(D) HomiBhabha

7.Which bank isknown as the bankers' bank of India?

(A) State Bank of India (B)The Reserve Bank of India

(C) HDFC Bank (D) Bank of India

8. Which is the national river of India?

(A) Godavari (B)Ganga (C) Narmada (D) Yamuna

9. Who was the world cup winning captain of India in 2011?

(A)SouravGanguly (B) Rahul Dravid (C)MS Dhoni (D) ViratKohli

10.The Chief Minister is elected for
..

Years.

(A) 2 (B3 (c)5 (D) 10

11. Largest Coffee producing state of India
is...

(A) Maharashtra (B) Karnataka (C) Kerala (D) Assam

12. Whowon the latest Olympic Gold medal for India in javelin throw event?

(B) Neeraj Chopra (C) JatinSapru (D) Sanjay Bangar(A) Akash Chopra

Q2. Choosecorrect answerfor(any 10) 10X1 10o

1. Which is the highest gallantry award in India

(A) Paramviashishtatseva medal

(C)Kirti chakra

(B)Paramvir chakra

(D)Vir chakra

2.For which of the following disciplines is Nobel Prize awarded

(A) Physics and chemistry (B)Physiology and medicine

(C) Literature peace and Economics(D)
All of the above

3.Which of these substances is present in tobacco

(A)Caffeine

4.Which of the following dams has been built on the river Krishna?
(B)Hashish(C) Nicotine (D) Morphine

(A) Narmadasagar(B)
Hirakud

(C) Bhakranangal (D) Nagarjunasagar

5.Which of the following states is associated with the classical dance, odissi?

(C)Bihar (D)Kerala
(A) Madhya Pradesh (B)Odisha

is the richest source of vitamin-c.

(BMilk

6.

(C) Pulses (D)Red meat
(A) Lemon
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17.Yinetic

energy

gas
molecules

isdirectly

A)
Atmospheric

pressure(B)

Pres

7.Which
mineral

isessential
for bones?

(A) Iron

8.Chandigarh
is the capital

of which
of the following states?

(A) Himachal
Pradesh

(C) Both Punjab
and Haryana

(D) Punjab

12
which

of
the

foliowing

is
à source

Aeak
(B)

Cinchona(C)

19How
cr.

prof�t

isgot
bysellic

'4 (B}45IC)S1

C)8oth

temperature

and
preS

(B)Sulphate
(C) Zinc (D) Calclum

(B) Haryana

9.One day in the evening,
an cagle

was flying
towards sun and turned left. Again it took left tum.

2.W
wors

wlibes:

k$rarGC.

20.e
um

of
the

ages

oftwo

Which direction was the eagle flying
now?

(A)

10.Who was appointed
as new chairman

dna CEO of the Railway board?

(A) Ashwiniyadav
(B)Anil

kumarlahoti

11.Which city Railway station was renamea veeranganalaxmibai Railway station?

reser

ages?

A.25
1B)
20,

1

(B) South
(C) South east (D) South west

East

acre

(C) Sumit Sharma (D) Vinod Mittal

(A)Kanpur
(B) Lucknow

(C)Jhansi

73Wc
(D) Agra

12. Which country
won the FIFA World cup 2022?

.
(A) France

(B) Argentina (C) Brazil (D) Germany PAR

Q3. Choose the correct answer for any 20questions 20X1 20

. Which of the gas is known as Greenhouse gas

(A) Methane

2.Quartz crystals normally used
in quartz clocks are from.(B) Nitrous oxide (C) Carbon dioxide (D) Hydrogen

(A) Silicon dioxide

(C) A mixture of germanium oxide and silicon dioxide (D) sodium silicate

(B)Germanium oxide

3. Which of the following is used as Lubricant?

(A) Graphite (B)Silica (C) Iron oxide

T
4. The gases used in different types of welding would include

(A) Oxygen and hydrogen

(C) Oxygen, acetylene and argon

(D) Diamond

(B) oxygen, hydrogen, acetylene and
nitrogen

(D)Oxygenand acetylene
5. Decibel is unit for

(A) Speed of light

(C) Intensity of sound

6. Kilohertz is a unit which measures

(B) Radio wave
frequency

(D) intensity of heat

(A) Power used by a current of one
ampere(B) Electromagnetic radio wave frequency(C) Voltage

PH 3T7T
7. Knot is a unit of speed of which of the following

(D) Electric resistance

FTAT

(A) Aeroplane (B) Light waves(C)5hip (D) Sound waves
8.'.MOV extension refers

usually to what kind of file?

(A) Imagefile (B)Animation/ movie file

(C)Audio file (D) MS office document
9.What is full from of SONAR?

RTHTT

(A) Sound in navy and in
receivers

(CSoundnot in aircraft range

(B) Sound
navigation and rangin8

(D) Sound navigation and receiving
10.Which number will best

complete the
relationship given below?12:30:: 20?

(A) 42
(B)25(C) 32

f
ferTT

11.In which natural phenomenonis static
electricity involved?

(D)35

(A) Lightning
(B)Rain(C) Twister

(D)Hail storm12.Which gas is
typically produced when metal reacts with acids?(A) Carbon dioxide (B)

Oxygen(C) Hydrogen13.Which of the
following is a weak base?

(D) Nitrogen

(A) Ca(OH)2 (B}KOH(C) NH,OH
14.Which of these does not have an

optical lens?
(D)NaOH

(A)
Microscope(B)

Periscope(C) Telescope15.Whyare the tyres of the cars, trucks and
bulldozers

treaded?

(D)
Stethoscope

(A) To increase friction and to
give a

better grip to them on the road
(B) Thetreads of the tyres are meantto add

beauty to its
design

(C) To decrease the friction

(D) To increase the
speed of the

vehicle 716.What is the chemical name of
limewater?(A) Sodium

hydroxide
(B) Magnesium

hydroxide (D) Calcium
hydroxide

(B) Ammonium
hydroxide
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17.Kinetic energy gas molecules is directly proportional to-

(A) Atmospheric pressure(B) Pressure

(C)Both temperature and pressure

18. Which of the following is a source for quinine?

(D) Temperature

(A) Teak (B) Cinchona(C) Necm (D)Bamboo

19.How much profit is got
by

selling goods
at Rs.405 at a profit of 12.5%?

(A) 40 (B)45(C)51 (D)36

20.The sum of the ages of two cousins is 35.ten years ago, the ratio of their
age

present ages ?
their ages

was 2:1.what
are their

(A) 10, 25 (B) 20, 15(C) 28, 7 (D) 30, 5
21.Which word will best complete the relationship given below?

Asphalt: road ::brick: ?

(A) Fabric (B) Cloth(C) Prism

22. In universal indicators, a pH of 4 to 5indicates-

(D) Wall

(A) Strong alkalis (B)Weak acids (C)Weak alkalis (D) Strong
acids

23.
Which

of the following types of medicines is used for treating indigestion?

(A) Antacid

24. How is food energy measured?

(B) Antiseptic (C) Analgesic (D) Antibiotic

(A)Meter (B) Kilowatt (C) Calories (D) Kilogram

60X1 60
PART-II CHOOSE THE CORRECT ANSWER ANY 60 FROM BELOw

1. The demagnetizing component of armature reaction in a DC generator

(A) Reduce generated emf

(C)Reduce interpoles flux density (D) Results in sparking trouble

2. In Fleming's right hand rule, the direction of the induced emf in the conductor is given oy

(A) Index finger (B) Middle finger(c) Thumb
3.The armature reaction effect in DC machines can be neutralized by using

(B) Increases armature speed

(D) Ring finger

(A) Only compensating winding

(C) Both compensating winding and interpoles

(B)Only interpoles

(D) Main field windin8

4.
Which of

the following motor is having very high no load speed?

(B) DC series motor

(D) Induction motor

(A) DC shunt motor

(C) DC compound motor

5.The main purpose of performing short circuit test on a transformer is to measure its

(D) total loss(A) Copper loss (B) Core loss(C) Insulation resistance

6.Which of the following loss in a transformer is zero even at full load?

(A) Eddy current loss (B) Core loss(C) Copper loss

7.What are the modes in which power can be transferred in an autotransformer?

(D) Friction loss

(A) Conduction and intension (B)lnduction and intension

(D)Cannot be said

8.The damperwinding in a synchronous motor is provided for

(C) Conduction and Induction

(A) Starting torque only

(C) Preventing hunting and providing the starting torque (D)Reducing the noise level

9.Three phase supply
is fed to

the induction motor
and

isrunning at
its normal operating conditions.

then the synchronous speed can be defined as speed at which?

(A) Stator magnetic field rotates

(C) Rotor rotates (D) Slip speed

(B) Reducing eddy currents

(B) Rotor magnetic field rotates

10.In a 3phase
slip ring induction motor high starting torque is achieved by

(A) Increasing supply voltage

(B)Increasing supply frequency
(C) Connecting a capacitor across the motor terminals

(D) Connecting a star connected resistance across slip ring terminal of motor

11.Earthing is necessary to give protection against

(A) Danger of electric shock

(C) Overloading (D) High temperature of the conductors

12.What is the cause for mechanical overloads in the induction motors?

(B) voltage fluctuation

(A) Stalling (B) Blowing of fuse

13.Which of the following is the advantage of electric braking?

(A) It is instantaneous

(C)It avoids wear
of track (D) More heat is generated during braking8

(c) Under voltage (D) Open circuit

(B)Motor continues to remain loaded during braking



14. The value of coefficient of adhesion will be high when rails are

(A) Greased

15.With regards to measuring current and voltage in an AC circuit, modern AC instrument are calibrated to

(B) Cleaned with sand(C) Sprayed with oil (D) Wet

read:

(A) RMS values
(B)

Peak values
(C)Average values (D) form factor values

16. The current waveform for a purely resistive circuit:

(A) Leads the voltage by 90 degrees

(C) Lags the voltage by 90 degrees{ D) Alternately leads and lags the voltage

(B) Is in phase with the voltage

17. When two capacitors are connected in series,the total
capacitance:

(A) Is double the capacitance of any one
(C) Is increased

(B) Is decreased

(D) Remains the same as the largest one
18.The power factor of an AC circuit can be found using the formula, Power factor =

(A) Volt-amperes/watts

(C) Watts/volt-amperes

(B) Volt-amperes x current

(D) Volts x
volt-amperes

19.The condition for the validity of Ohm's law is that the

(A) Temperature should remain constant

(C) Resistance must be wire wound type

(B) Current should be proportional to voltage

(D) Resistance must be varying type
20.Property of a material which opposes the production of magnetic flux in it is called

(A) MMF (B) Reluctance(C) Premeance (D) Permittivity
21.Resistance of the conductor is doubled keeping the potential difference across it constant.The rate generation of heat will be

(A) Be halved (B) Become four time
22. Which of the following is a semiconductor material?

(C) Become one fourth (D)Be doubled

(A) Phosphorous (B)Rubber(C) Silicon (D)Aluminium
23. Which of the following circuit element is an active component?

(A) Capacitor (B) Transistor(C) Inductor

24. Which of the
following generation station has minimum running cost?

(D) Resistor

(A) Thermalpower station

(C) Nuclear power station (D) Gas based power station

(B) Hydro-electric power station

25.The normal practice to specify the making current of a circuit breaker is in terms of

(A) R.M.S value (B) Peak value(C) Average value (D) Form factor

26.Wheneverthe conductors are dead-ended or there is a change in the direction of transmission line,

The insulators used are of the

(A) Pin type (B)Suspension type(C) Strain type (D) Shackle type
27.Sheaths are used in cables to:

(A) Provide proper insulation

(C) Prevent ingress of moisture

(B) Provide mechanical strength

(D)Prevent current

28.Zener diode can be describedas

(A) A rectifier diode (B) A device with constant -voltage

(C) A device with constant current (D) A device that works in the forward region

29.0scillators are used to_ AC voltage.

(A) Prevent (B) Generate(C) Amplify (D) Rectify

30.The GTO can be turned off

(A) By a positive gate pulse

(C) by a negative anode- cathode voltage (D) by removing the gate pulse

(B) by a negative gate pulse

31.Which one of the following is the main advantage of the SMPS over linear power supply?

(B)Olny one stage of conversion

(D) Low power dissipation

(A) No transformer is required

(C) No filter is required

is used for critical loads where temporary power failure can cause a great deal of inconvenience

(A) SMPS(B)UPS(C) MPS (D) RCCB

32

33. An EMF produced in a movingconductor coil accordance with the following law

(D) Coulomb's law(A) Faraday's law (B) Ampere's law(C) Lenz's law

34. In semiconductor, the conduction of electricity isdue to the movement of which of the following?

(B) Negative ions only(A) Positive ions only

(C) Positive and Negative ions (D) Electrons and holes

35.If aDC shunt motor is working at fulload and if shunt field circuit suddenly opens

(A) Will make armature to take heavy current,
possibly

burning
it

(B) Will result in excessive speed, possibly destroying armature due to excessive centrifugal stress

(C) Nothing will happen to motor

(D) Motor will act as D.C series motor

by using a low resistance shunt.36. A moving-coil permanent-magnetinstrument can be used as

(A) Ammeter(B) Voltmeter(C) Flux-meter (D) Ballistic galvanometer
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58. Transmission line insulators are made of .

(C) P.V.C
(D)Porcelain(B) Iron(A) Glass

59. Under no-load
condition, the current ina transmission line is due to

(A) Corona effect (B) Inductance of the line

(C) Capacitance of the line

60. A single phase induction motor is
notsel-starting because it has

(A) NO slip

(C) High inertia

(D)Back flow from the earth

(B)Absence of rotation
magnetic field

(D)Rotor is short circuited

61.Which of the following insulating material has
affinity to moisture?

(B)Porcelain(A) Bakelite (C)Glass
(D) Asbestos62. The outputof thermocoupleis in rangeof

(A) Volts (B) Millivolts (C)Amperes
(D)Milliamperes63. In a AC circuit(sine wave) with R andL in series

(A)Voltage across R and L 180"out of face

(B) The voltage across R lags the voltage across L by90
(C)The voltage across R leads the voltage across L by 90°
(D)Voltage across R and Lare in phase

64. By using two wattmeter method, power can be measured in
(A) 3-phase, 3-wire system

(C)3-phase, 4-wire system
(B)3-phase, 2-wire system
(D)1-phase, 2-wire system65. Star- Delta

starting of motors is not
possible in case of

(A)Single phase motors

(C) Low horse power motors
(B) variable speed motors
(D)Highspeed motors

*******
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